HEE=1 BET 2023 F 5 H29H
(1), (2), ... D/PEIZFIDADIRNTHEL THHOERAD, (a), (b), ... D/PEIZFE CADFER L TLEE W,
RR=IC Y b E2EEFE L, BIRITEEN,

RS 7.1 HRIEOEEE AWT, T 2R,

(1) flz) 2 [~1,1] THEETH-T f(1) = f(—1) = 0% 51E. FUHEELEREy = f(2) DF5 7 LTb %,
(2) BAKE [a,b] LGB f(2) 25, f(a), f(b) € (a,b) R H=EE. f(c)=c LRD ce (a,b) BEET B,
(3) XM T £ 1% 1 BRI T H 5.

B 7.2. XOMEERD &, (sin" 'z 213, arcsinz £ b EPNL, EB5DHLERM-THHEW, )

in—1 Lﬁ R EYORE IS S S V3L
(a) sin ( 7 \[ ) (b) cos ( N AR A ) (c) tan — 31
B 7.3. XOXZFEHE X, (Sin_ r 7R ¥IE, arcsinz L FEPND, EHELDELETEM > THRY, )
(1) (a) cos(sin™* z) V122 (-1<z< 1) (b) sin~'z + cos™ta = g (-1z<1)
11 . (z>0) cos 'z, 0sz=1)
(2) tan~t 2 + tan"! — 2ﬂ_ (3) sint /1 — 22 = -
r —3 (x <0) m—cos tx, (—1Z2<0)
11 1} ™ 11 711_[ -1 -1 -1 _é
(4) tan™ 2+tan 3= 1 (5) 2tan™ 3—|—tan ==7 (6) tan™" 2+ tan™ " 5 4 tan 8—47r
AR b PELTQ), @) BECHENZHEZE L, (TO2MIEIFERTEREA, )

f 7.4, AHFRBIEL (MDA DEREE p.35) IZOWT, RERt,

(1) (a) cosh? z —sinh®z = 1, (b) (sinhz) = coshz, (c) (coshz)’ =sinhz, (d) (tanhz) = (COS;$)2
(2) (a) sinh(x + y) = sinhx coshy & cosh z sinhy, (b) cosh(z £ y) = coshx coshy £ sinh x sinh y

sy —1 N 1 —1 7 1 =1,y _ —1
(3) (a) (sinh™ " z)" = Vi (b) (tanh™ " x) T2 (4) (sech™ z)" = P (0<z=1)
B 7.5. ROBBZEMIE X, 72720, a,b> 01 3EBET 2,
(1) (a)x 1 t g (b) sin™* g (c) cos™*(sinx) (d) log ‘tan (g + %)’
2) (a) 1;2:22 (b) sin~!(cosz)  (c) tan*% (d) log(z + /22 + a2)

. g _— — Va?+ 2% —va? —a?
@ @ O T sV @ YISV
4 T b t 114z rsin~!z 11 1 9
@ @ Z ) (0 TR Flog(1 —0?)
(5) (a) (a® +b")Y/= (b) tan™! 11222;; (¢) sinh™*(cosh )
B 7.6. XOBEED . (0), f.(0), f'(0) B3HAIUIRKD X
(1) (a) f(z) = sin |z] (b) f(z) = |z| — tan [z|

41 x sinx
- 0 — 0 , 0
@ s =T T gy gy T CEY g gy T 070
0, (z=0) 0. (z=0) L (@=0)
2 .1

% T sm —, (1‘750) ~ N p 2 - — /

B 7.7 B f(x) = x WZOWT, f(x) D e=0THIARETH 2 It emt, £/, f(v)
0, (x =0)

Mr=0TEETIERZW E2E»D K,



7.3 (3), (4) D& 7.2, B 7.3 OEDLDDOEL Y FTT,

7.3 (3) 0= sin_lm B, 0<0< g Ho1—22 =sin?0 = 1—cos®h, T4%bb cos0 = z°.
OSGS%&DCOSHEOK@T\ 0<z<1DrZcosh=x koT. 0=cos 'z
—hH. -1<z<0D¥ & cos =—x. ZIT. g<cos*1m§7r¢l:0ng—cos*1w<g’6\
cos(m —cos ' x) = —cos(cos ' z) = —x BDTH=m—cos ' x.
- ()

IVESEN sin_lx/le{COS - . //

7—cos tx, (—1Z2Z0)

x
tan(tan™! §) + tan(tan™* 1)
-1

7.3 (4) tan(t S —11) 2+5 1

il an(tan™" — +tan™ -) = = =1
? 3 1 Itan(tan 1) ~tan(tar11’1 ) 117 33
O<tan*1§<%,0<tan*1§<£J:D0<tan*1§+tan*1§<g7£®f“tan1 +tan1:Z/./

7.5 3 ROW=HBE DM DR ViU, SECE I TERAMZ ICH 5 Z e THETE X7,

_ 1
14 a2

1
(-1<z<1), (cos'a)=-—"r—(-1l<z<1), (tan'z) (—o0 < & < 00).

V1—z2

(sin™! )’

CORKBBHE LE T, (o THRNTIZE W, )



